1. -\3x \/gx \/2—3—7&%61 5}m9

vz @©-vz ovi @-v3 o+

2 \/§ 2 3
—\/§><\/;x 5=- 3x§x§_—\/§




2. V2T=aV3,Vi2=6Vb & W, a+b 2 I Tt

V27 = VOx3 =33
La=3

V2= V6x6x2=6V2
Lob=2

a+b=5




3.

VIZ-3VA8 - V3+ V2T = AV3 & o], §55 A o g2?

V12 -3V48 - V3 + V27
=2v3-12V3- V3+3V3
=-8v3

wtakA A = -8 ot}




e AawAo maelel Zolo] e T .
Sholet. |

_____

[
=

»
> ®MEF: 2843+ 1245

B

A9 Fo] o] e

4(VI8 + VA5 + V27) = 4(4V3 + 35 + 33)
= 4(7V3 +3+5)
=28V3+12v5




5.

rd
filo
S
i)
R
nst
£
Q

-

VBT ] 0] ABL a, (1) o] &) AF
o gre?

© -7 @ -1 ® 1 @7 ® 13

VB1 =9 o] AlFE
(-4)%2 =16 & AF
sa—b=3-(-4)




olJ
RS
)
oX
&
(i)l

<F
)

__O._
.

Nfo

il
Ho

ol
<

op

@5 @10 @vis ©2

@ 2

@ +v2
@ =5

® +v10

@ +2

® +2+5




7.

(0.1)% o 2o Alud=

10A + B %t “Fotofet.

>
>

cCh -
="

M1

A, 25 O AlE2e] eE B 2Hal

sk

o 959 AFLL 45 0|1, 4 2 7o)k

-14+2=1

(0.1)2 = 0.01 o] 1

(0.1)2 9] 9] AEZE —0.10]t.
“A=-01

25 & Fol

~B=2

= 10A + B = 10 x (=0.1) + 2




2 A o E ), A e AL ke Fatodet
X

> E

> Het: 6

V2 = V22204 9 20150 2147t mE 40}
ZjojoF SRR x =2x 3 =6 O[T}




V3
@ 2 @—

29
L 457} ohd AL

® V3+0.02

S 05 V3
0 8- /1. -




V2 4, ko g2

£
— =

10.

1
“ 6

® 6

— ™

@ 3

Sle
Il

S

e —lo

ORI
B -k -




11.

B

9 < V2x2 <14 & WESt= A x O] #o s

=T A

> He: 6 A

sholat,

9 < V2x2 < 14,

81 < 2x% < 196,

40. x x < x2 <98

ulatA], FolX MSE W&ot A
x=-9, -8, -7, 7,8, 9




o|J

o}
olig
Nfo

op

6 2z
52 vehfol

B|R;
= < < )




13. Hol7k5 e 10 o A 2 7S 2™ Zol k=, H P 9

- ~
s ~
e N
Vs N\

¥ Y 1 N
-1 \ P I
@ -1-v5-+10 @ -1+ V5- V10
® -1-V5+ V10 @—1+\/5+\/ﬁ
® 1+ V5+ V10

P=-14+vV9—4+ VI6-6=-1+ V5 + V10




14. o2 F g4 JAV 82 ALY
® 4-V2<2 @ 2-VT<V3-+7
@—«/ﬁ>—4 @ -vV3-+10<-v10-3

® V2+1>V3+1

~&B

D4-V2-2=2-V2=+V4-+2>0
L 4=1V2>2
@2—\/7—(\/_—\/7)=2—\/§:\/Z—\/§>0

L2—-VT> V3T
@ —VI5 - (-4) > 0

@ -V3- V10— (-VI0-3) =-VB+3=-vV3+ V9>0

L= V3-+410>-+v10-3
® V2+1-(V3+1)=v2-V3<0

V2 4+1< V341




15. thg felste] A4t o] 7] 9L A& Fotolet.

\/%x4\/6+\/§
2 1
:ﬁle\/gx%...@
1
=4\/§x% S ©
2
=43 ©
> =
> &HE ©

2v3 . V3
24\/§X7§ - ©(0)
46 o




20

=bV5 L W, V=ab 9 7t-2?
35

6V3
16. 2 — 46, -
vz~

@? @ V2 @2 @ 2+2 ® 42

B

6vV3 6V3x V2

_ =3v6 ~a=3
%~ vaxys Vo
20 20x V5 445 PR
3v6  3x VEx Vb 3 3

V-ab = —3x(—§>= Vi =




3Va—-4

17.
VI8

=3 <, a9 g2?

O 24 @22 ® 20 @ 18 ® 16

B

3Va-4 3vVa-4Xx \/5_ Va—-4x \/52

VIE . 3vexv | 2 ’
Va—4x V2=6= V36

(a-4)x2 =36

a—4=18

Soa=22




18. a b7t HeEl5d w, \/(2-v8) - /(1= VB) = a+bV3IA
a- b9 k& Faolat,

cCh "
| —

| 2
> HE: a-b=5

B

2-v3>0,1-V3<00|2&2
Vo) = 1) =2 8|- |1~ Vi

=2-V3+1-+3
=3-2V3

3-2V3=a+bV3o|EE
a=3,b=-2
~a-b=3-(-2)=5




19. o

T 7 7o da BAE vEA UEid A2 BE 12H?

oo

@) v3-1<v3+1 @ 1> V2
® V5-2>45-1 @0>«/§—2
® V2+2<22

B

D V3-1<+V3+1

@1< V2

@ V5-2<+5-1

@0> V3-2

® V2+2<2V2

S -2 & tistd
—V24+V24+2<2v2-20]1
2< V2 EHSE




® -Va’=a

=da

@) (- vay:

© (Va)’ = -a
@

=da

® —/(-a)?

(—a)?2 = -a

S

S
S I

I
ﬁ\él/
NN
2y | TS
gl

CRORCNG)

N
|




